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+uBjR I—‘ PAO [USART1_CK] SWIM BEEP IR_TIM* (only open drain) PCO 12C1_SDA | SDA
NRST |2 2 NRST PAT* (only open drain) PC1 12C1_SCL & 'SCL
Swim & I PC2 USART1_RX ADC1_IN6 COMP1_INP VREFINT |
GND PC3 USART1_TXADC1_IN5 |2
13{voD PC4 USART1_CK 12C1_SMB CCO ADC1_IN4 COMP2_INM COMP1_INP |42 Uhrenquarz
24vpD PC5 OSC32_IN [SPI_NSS] [USART1_TX] |44
191voD PC6 0SC32_OUT [SPI1_SCK] [USART1_RX]
T 1vDDA PC7 ADC1_IN3 USART3_CK COMP2_INM COMP1_INP |49
121 VRef+ VRef+_DAC
PDO TIM3_CH2 [ADC1_TRIG] ADC1_IN22 COMP2_INP 32,768 Ktz
PD1 TIM3_ETR ADC1_IN21 COMP1_INP COMP2_INP cs
Gl C2] C3] C4] C5] C6 Cr PD2 TIMi_CH1 ADG1_IN20 COMPT_INP |2~ sastem
43 GND GNDA VRef- PD3 TIM1_ETR ADC1_IN19 COMP1_INP %z IZp =
100n 11000 f1u 100n f10n - f1u 1100 GND PD4 TIM1_CH2 ADC1_IN10 SPI2_MISO COMP1_INP | 50V IOV
— 25v_[28v 1oV ISV ZSVIOVI5VE PD5 TIM1_CH3 ADC1_IN9 SPI2_MOSI COMP1_INP &
PDB TIM1_BKIN ADC1_IN8 RTC_CALIB SPI2_SCK COMP1_INP VREFINT 5
STE’W +UB PD7 TIM1_CH1N ADC1_IN7 RTC_ALARM SPI2_NSS COMP1_INP VREFINT 36
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SDA |of?
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RX |oft 31PA2 OSC_IN USART1_TX [SPH_MISO]
X |of 41 PA3 OSC_OUT USART1_RX [SPI1_MOSI] PEO TIM5_CH2 RTC_TAMP1 |14
oty 2pAd TIM2_BKIN [TIM2_ETR] ADC1_IN2 COMP1_INP  PET TIM1_CH2N RTC_TAMP2 S
S1pA5 TIM3_BKIN [TIM3_ETR] ADC1_IN1 COMP1_INP  PE2 TIM1_CH3N RTC_TAMP3
DCF-Modul 24 PA6 ADC1_TRIG ADC1_INO COMP1_INP PE3 USART2_RX
* L1pA7 TIM5_CH1 PE4 DAC_TRIG2 USART2_TX
+UB +UB PE5 ADC1_IN23 COMP1_INP COMP2_INP USART2_CK
21 pB TIM2_CH1 ADC1_IN18 COMP1_INP* PE6 PVD_IN TIM5_BKIN USART3_TX
DCFt 3 251 pB1 TIM3_CH1 ADC1_IN17 COMP1_INP PE7 TIM5_ETR USART3_RX
+UB 816 24 PB2 TIM2_CH2 ADC1_IN16 COMP1_INP
oAt 1 o4 im d_—*,‘m o o} 21 pB3 TIM2_ETR ADC1_IN15 COMP1_INP PFO ADC1_IN24 DAC_OUTH
1 /SS |ofz 281 PB4 SPI1_NSS ADC1_IN14 DAC_OUT2 COMP1_INP*
GND SCK |of 291 pB5 SPI1_SCK ADC1_IN13 DAC_OUT2 COMP1_INP
20 é?g“v 2 MOSI [of: 91 pB6 SPI1_MOSI ADC1_IN12 DAC_OUT2 COMP1_INP.
SMD MISO |o Z 311 pB7 SPI1_MISO ADC1_IN11 COMP1_INP (note: *= Pullup bei Reset)
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Bild 1: Schaltbild des RTC-DCF-Moduls

LED rot SMD





